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Naviakhi®

oc or od is to be inclined at 30 degrees
but neither o'c’ nor o'd’ is parellel in diag 3
thus we nesed LOCUS

but no where we have the TL

since na is //to xy , o'a’ is TL of OA

and that itself is TL of oc or od

{since in real world OA=0B=0C=0D=...)
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oc or od is to be inclined at 30 degrees
but neither o'c’ nor o'd' is parellel in diag 3
thus we need LOCUS

but no where we have the TL
sincenais//toxy, 0o'a is TL of OA

and that itself is TL of oc or od

{since in real wold OA=0B=0C=0D=..))
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oc or od is to be inclined at 30 degrees
but neither o'c’ nor o'd’ is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since oa is // to xy , 0'a'is TL of OA

and that itself is TL of oc or od

{since in real world OA=0OB=0C=0D=..))
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ocorod isto beinclined at 30 degrees
but neither o'c' nor o'd’ is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since oa is //to xy , o'a’ is TL of OA

and that itself is TL of oc or od

{since in real world OA=0B=0C=0D=...)
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oc or od is to be inclined at 30 degrees
but neither o'c’ nor o’d’ is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since oa is // to xy , o'a'is TL of OA

and that itself is TL of oc or od

(since in real world CA=0B=0C=0D-=...)
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oc or od is to be inclined at 3C degree! y

but neither o'c’ nor o'd’ is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since oca is /fto xy , o'a'is TLof OA

and that itself is TL of cc or od

(since in real werld OA=0B=0C=0D=...)

navlakhi.com / navlakhi.mobi / navlakhi.tv / navlakhi.club / navlakhi.org



9820246760 / 9769479368 / 9820009639

Tel

Naviakhi®

>

o2
oc or od is to be inclined at 30 degree: !

but neither o'c’ nor o'd’ is parellel in diag 3 2
thus we need LOCUS

but no where we have the TL

since cais // to xy , o'a’ is TL of OA

and that itself is TL of oc or od

{since in real world OA=0B=0C=0D=...)
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ac or od is to be inclined at 30 degree

but neither o'c' nor o'd' is parellel in diag 3 ~
thus we need LOCUS

but nc where we have the TL

since oa is // to xy , o'a'is TL of OA

and that itself is TL of oc or od

{since in real world OA=0B=0C=0D=...}
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oc or od is to be inclined at 30 degree |
but neither o'c' nor o'd' is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since oa is // to xy , o'a’is TL of CA

and that itself is TL of oc or od

(since in real world CA=0B=0C=0D=_.)
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oc or od is to be inclined at 30 degree

but neither o'c' nor o'd' is parellel in diag3 *
thus we need LOCUS

but no where we havethe TL

since oa is // to xy , 0'a' is TL of OA

and that itself is TL of oc or od

{since in real world OA=OB=0C=0D-=...)
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but neither o'c' nor o'd' is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since cais// toxy, o'a'is TL of OA

and that itself is TL of cc or od

{since in real world OA=0B=0C=0D=...}
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oc or od is to be inclined at 30 degree
but neither o'c' nor o'd' is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since oais // to xy , o'a’ is TL of OA

and that itself is TL of oc or od
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but neither o'c' nor o'd' is parellel in diag 3
thus we need LOCUS

but no where we have the TL

since cais // to xy , o'a' is TL of OA

and that itself is TL of oc or od

{since in real world OA=0B=0C=0D=...}
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